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SECTTION A

(4) Find the value of x, gi;rin g reasons,

3

ANSYWERS Marks
1{1}  Yindthe size ofm’ and #° z
{(2)  Ois the centre of the ciicle. Find the value of a. 2
C88°
(6] 0 is the centre of the circle. Find the size of p. 2

(5}  Given that CD =35 cm, find the length.of 3D,
Give reasons.

END QF SECTION A




Marks

AD|| BC

Prove £BAD =2 ADC

b AN )
— SECTIOND SWERS
(6)  ABand €D are two diameters of a circle witl °3
centre O, i
Prove that ZDAR=/ABC.
(1) Below is cyclic quadritateral ABCD with . 3

(8). The tangent TS is paralle} to the chord PQ.
Z£TPQ=40°
S
Find the size of £ PTQ, giving reasons.
(%)  The circle below hag angles of r” and 1407 at iis

cenfre,

ZAQB =q" and ZASB=5"

Find the valués of g, r and 5.

END OF SECTION B




SECTION C ANSWERS Marks

(18)  The degree of the polynomial o1 : (14)  For the polynomial

y=G-nE-2 Q) =T5—d5 =5

1s State:
NI : - : "
Gy 7 ' f (@)  the leading cocfficient;
@ 3 ] . : oo ' { (b}  the number of tenms;
’ ()  the conslant term.
© 4
o 6 ‘ (15) (2)  Find the centre and radius of the circle
. X4yt —10x-4 854320
(11} Which of the following is a MONIC 1 ’
polynomial?
_ ; 1 ‘

{A) 4+3x+3x (B) —
: x+3 .

. (b}  Hence sketch the circle

Cy3-6x+x Tpax+3 :
© i ®) ¥ . 4y —10x48y+32=0

{12)  For lhe polynomial 2
S =x"r2x"~1 )
] (16}  Sketch the graph of
tind: ]
Fin F=(x-2P+1
a 0 . R
@ S Clearly showing all essential points.
® A2 : : ‘ ' -
’ . 1 -
(13)  P{x} and O(x) are two Pﬂfyﬂof‘ﬂafs- . {(17)  Tind the roots of the following equalion, given
P(x) has degree 3 and Q(x) has degree 4. ) that there is at least one integer root.
What is the degree of. ' ? Ayt P x-10=0
@ [Px0(]? !
T W) [P+ Q)]

END OF SECTION C



"SECTIOND

ANSWERS Marks

(18) Pd and PB are tangents {o the circle with centre -3

Q.

AP=11cm, £ AQP =65

" Find, giving reasons:

(a) the length of PB,

() the measure of ZOPB,
(19)  ABCD is a cyclic quadrilateral, . 3

‘FAE is atangent at A, .
BD is parallel to FE.
L DAE =350°

Find the size of:
(@  ZBAF

() ZBCD

e

f—

(20)  PQisa tangent [o the circle at @ and PS is
pacallel to OR.

) F

Prove that £SP() = Z (SR, clearly explaining
your reasons at each step.

(21)  AB and'CD are parallel chords of a circle. The
tangent at B meets CD produced to E.

(a)  Drawa diagram to illustrate this
information,

k)
{b)  Prove that the triangles AD&and DBE
——are similar. Clearly stale your reasons.

END OF SECFIOND



SECTION E

ANSWERS

Marks

Clearly indicate the quotient and the remainder,

22) (a). Show that 4
S =3 +10x +11x+-4
is exactly divisible by 3x-+4

()  EBxpress f(x} in faclored form.

23)  Sketch ihe graph of 3
- p{0)=(1-x)(1+x)(3+x) d
on the number plaile provided.
M

24)  Divide 4x2—10x-+18 by 2x--3. 4

L A BT

-.»-—wmwwﬂr'

T

i
1k
i
)

H

*(25) When the polynomial x*+-3x" —mx-+n js

‘divided by x+2, the remainder is 9.
When divided by x—3, the remainder is 49.

Find the values of m and 1,

(26)

A potynomial P(x) has a factor of x—1J and has-

a remainder of 4 when divided by x-+2.

{a) - If P(x) is divided by x> +x—2, explain

why the remainder will be of the form
ax-+b.

{b) Find the remainder when P(x)} is
divided by x* +x—2

TH1$ 1S THE END OF TIIE TEST
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SECTIONA ANSWERS Marks
: - O
{1)  Findthe size ofw’ and o _ﬂ/‘/ - LH . 2
+
S = (,Bq - W
A -
@ O is the centre of the circle. Find he value of a. g? 2
= 5=
LL[_!_O‘
a8’ i
2

O is the centre of the clrc]c Tind the size of p.

[

)

Fin-d the value of x, gi:ein £ ICasons. _ © . 3
- 29 (sding gegmed)
e
(5)  Given that CD =135 em, find the length of MD, lﬁ'\f, WWQ&JWV

Give reasons.

~
S
& o
E
S

o

END O SECTION A



SECITION.B

ANSWERS

)

Al and CD ace two diameters of a circle with
cenlre O, -

Prove that ~D4AB = £ ABC,

MR- £0eR @w Q%WJ

Mo , 4 £y BOC: 08 0

ool of

(

v LME:*

<O W&)m N
o £0RC= L 0CR | icostefe AQ)
;o 2008 = Z0Re [botl = 1:055
LARC |

1D

Below is cyclic quadritateral ABCD with
AD|| BC

Prove L BAD =L ADC

BNt ZDe
mlééf QMQHS{&M
o LADC tL DCR =

(n,LQ(‘[@I JAY @/N
/(mg ing Sp emau

o LRAD = 4 Abe

(hnt

3

18).

‘The tangent T is parailel to the chord PQ).

LTPQ =40

el —2 TWmw

Wioads 7a, (0 Sl

@,l,wm RSN

Mo £670.= iT?Q -

\ojgm (o

(aﬂi /\% 0 Qﬁmﬂ

Mg) o0+ L08R
(S sl:e@m\

I‘e WP + ARTRY w6

" Find the size of £PT(Q, giving reasons. ole A m = W
eci | AE 3D D 3
()] The circle below hag angles of »” and 140" at it
cenire. e e “ = Dj )D 2
B NIRRT =

LAQB=q" and L4SB=s" d _

UB=q" an 5 GM%[Q_U)L \Q,“-)\)(O’A\z/\

a}r Wl D Sty % )

Find the values of g, rand 5.

&,
Th
X

END OF SECTION B



SECTION €

Darks

(14) For he polynomial

Oy =Tx—4x*~ 2
Siate:
(a} - the leading coefficient;

() the number of tenms;
(c) the constant term,

)

.-
(cy®.

3.

(15) @

Find the centre and radius of the circle -,

Xy —10x+8y+32=0

te C’,t~

(x-§) t ({p“#)y

Cudm

@) otor 125 4"y b 43225
S Flyee) Hpo = 4|

=9
I (s, 1) aufhl. 1asli

(by  Hence sketeh the circle

4y’ -10x+8y+32=0

I

1\&.‘

‘ ‘/}

ANSWERS
(10)  The degree of the polynomir;! 1
y=(x-S)e-2
is (8)
)t -
By 3
o 4
o 6
(11}  Which of the following is a MONIC 1
polymomial? ‘
— |- ()
(A) 44+ 3x+3x (B) m .
(C)3—6x+x7 ®) 2 +fx+3
(12)  TFor th.c polynomial @ ‘{Gb - 049 -l 2
C (R =x" 121 9 = —-*[
it WD) = (1‘%2[—25 g
@ Fi0) lb +g __{
by 12 - QS
(13)  P(x) and O(x) are two polynomials, (Q,B KRR :7 2
F(x) has degree 3 and O(x) has degree 4.
What is the degree of. C{’j ) ﬁ(ﬂ%w’ LF
(@) [P(x)xQ(x)}2
() [PC) 0] 7

(16)

Sketeh the praph of

S0 = (=2 +1

Clearly showing all essenfial points.

{17)

Find the roots of the following equanon gjven
that there is at least one integer root.

XAl —Tx—10=0

PQ}- Lt <110 0
PO = &+ -ty —ip=b

v Abe gl

£ 0e) =

LN toch -1 3
Lo S
b —1x.—~LO

b Lo
S*:ch lO

3

() b ts) |

SENEORTAN S
1

END OF SECTION C
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"SECTION D : — ANSWERS - Marks

LY

' TR | ' SECTIONE T ANSWIRS ] M
(18)  PA and PB arc tangents (o the circle with centre .‘,a' Pg - &S: l!,_CW - - . Shou E w T—{—-. IL‘X/ 1 .
,(j;}: 11 em, L AOP =65 ' ( ol W@M || @, Showiha @, 3312‘\4{ ¢ HULV“F-[I o
o AT e gg 6y | S =32 41067 +11x+4 . _% «l
. . \ . . v
| () I B gt el ‘lr ~

i ) is exactly divisible by 3x+4 : % .
=59 ] | 3 T Eeg
ho=08 [ionlit of Sonalda ;?,(Q) ol 3 L]
- g . b el i @ .
“ AR s |
e A = - : - Bxpress f(x) in factored form.
Find, giving reasons: A o%é@?g --:A EQD MSPMO('L’\ itf!g ’ (b? Bp f(_} ‘ . Gﬂ) 4(1): (3{+(Qéﬂyizxf)
"B o tongth of P ¢ w"‘%\‘”’”‘*ﬁﬁ/ ‘ o ' :(%L‘L@(‘tﬂ)
(@)  thelength of PB. o L@% - qD S :250 . ' .

HB DM =P sihe, Tunggs L. o] ol

s

(b)  the measure of ZOPH,

‘ Ry - A 3
(1%)  ABCD is a cyclic quadiilateral, - . 3 (23)  Sketch the graph of
FAE is a tangent at A. . @ [,DA’ T—L A—bg‘l—gg 1 J
BD is parallel to FE, - t p(xXy=(1-+x)3+x)
L DAE =50 Le o
) 3 {S«B [\ hD(E = LABB ';586‘ on the number plane provided,

ok Iy -~
i ﬁ”ﬁﬁ%ﬁ“ L)
oo LBAE =L 0RD = 5P

D ML& N {mmuiL /&M S ST |

~ (24)  Divide 4x’ —10x+18 by 2x—3. 260\ s Dy HIE !

[k LB&P *{—L 4 BAE: [@)‘ Clearly indicate the quotient and the remainder. ; \LL._LS \,fg’ [b)
: b - : _ . 2 ~{br
F A ) TAE @ Sweyy Ou.\g@ _ o E

S +LBM sy =g | %ﬂﬂ

g ize of* ’ r — = A . N 0
et SBRD SRS ] =

b)  ZBCD | &ULLQ% ng = (g@(' . Tl - 1
U T ﬁeﬁ%mm% - gﬁjﬁ PRt
o2 L gC/ — [-Q_SD.H ’ | RLWy L -

\




(20} PQ is a tangent lo the circle at & and PSis
paraliel to OR.

Prove that £5PQ=/0SR, clcar]ycxplammg

your reasons at each step.

: M— /,ms f:r:, w@b
mﬂﬂlm 0.0 0%

c s?@ﬂrd’a R = &>
Co-whelaL £ ang

—

'F'&x

Mo 4 A QRS
LSk, = WGP~ (LE@S

< (0 -(x
<ty

¢ leméw{aftj)
B nao LSQQ: {KB"‘ P@/ﬁ?
r@ £5%Q = 8 - z+g)

Q ﬂ“{?ﬁ% B“a

v"

(21)
langent at & meets CD produced to £,

i
(a) Draw a diagran to illusirate this
information,

(L)  Prove that the triangles ADC and DBE
arg sintifar. Clearly state your reasons.

AB and "CD are parallel chords of a circle. The

B

) G s

d&wg@(bﬂ *

END OF SECTION D

o )

#LQQS

E |
|

R

(25

When the polynomial X +3x —mx+n is

‘divided by x+2, the remainder is 9.

When divided by x—3, the remainder is 49,

Find the values of i and 7.

Sabar

_?{1

§’+ 17 +1m w =
o AmtA =

oG f-j

& &) +3] - 3mHE

T 25[“/‘“’] — Vg_
S oo vth =S _—
: ~3m 41 =
A ‘Q)*E? S

11§ P Sk T VL e 4 ol e

A polynomial P(x) has 2 factor of x--1 and has
a remainder of 4 whien divided by x+2.

(@) - I P(x} is divided by x%+x—2, explain

why the remainder will be of the form
ax+b.

(b}  Tind the remainder when P(x) is
divided by x* +x-2

ot

THIS 1S THE END OF THE TEST



